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The method that finds the effects of relationship between two
or more variables in a controlled situation is

1. Experimental method
2. Deductive method
3. Inductive method
4. Co relational method
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‘Sunil and Anil belong to the same family; Sunil started
walking at the age of 9 months. Anil started walking at the age

of 12 months.” The above situation refers to the following
developmental principle

1. Development is a continuous process

2. Development is an individual process
3. Development is a product of interaction
4. Development is predictable

28 $¢002r08 ToAS IS 9 IvoH IESE0 (SO,
@S 12 IV0H SESE0 (SOOI E’ P HORERS

2 IS AAITRY) HS083208.

1. VSO0 BINF)ON® K0

A5008° N8 Foren &oeron

ATH0 2.8 Xacibo)é {565

L

ISR [ FH§50085)



A method in which a person examines and inter-prets his own
experiences and thoughts

1. Introspection
2. Experimental
3. Observation

4. Individual Case Study
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The term ‘Pubertas’ is a language word.
1. Greek

2. French

3. Latin

4. German
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According to piaget ‘pre — conceptual’ age is
1. 0 — 2 years

2. 4 — 7 years

3. 2 — 4 years

4. 2 — 7 years
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The method where the researcher examines the same group of
individuals over a period of time at different ages

1. Longitudinal approach

2. Cross sectional approach

3. Single group approach

4. Rotation group approach
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The following intelligent theory believes that Srinivasa
Ramajujan, who was gifted in mathematics, might have been
gifted in Science and other subjects.

1. Unifactor theory

2. Group factor theory

3. Multifactor theory

4. Two factor theory
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The following test item is not a part of Thurstone’s Primary
Mental Ability (PMA)

1. Numerical ability

2. Verbal ability

3. Perceptual ability

4. Mechanical ability
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10.

One among these is not an environmentalist

1.
2.
3.
4,

J.B. Watson
Wood worth
Longfield
Galton
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A teacher venting his anger towards his headmaster on the
children in the class is an example of

1.
2.
3.
4.

Projection
Displacement
Compensation

Regression
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The duration of short term memory is
1. 2 Seconds
2. 20 Seconds

3. l Second
2

4. 30 Seconds
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‘Achievement Motivation’ theory was proposed by
1 Guilford

2 Mc Cleiland, Atkison

3. Abraham Maslow

4 Mc lver
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The concept of ‘Programmed Learning’ was proposed by

l.

2.
3.
4

Thorndike
Skinner
Kohler

Pavlov
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A person, who knows to ride a cycle, will drive a bike. It is

l.

Bowo

Positive transfer of learning
Negative transfer of learning
Zero transfer of learning

Bilateral transfer of learning
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The method with high scope for “Subjectivity”

1. Introspection
2. Observation
3. Case Study
4. Experiment
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If Growth hormones - Cortisal is not secreted properly, the
disability in the child would be

1. Mental retardation

2. Low intelligence

3. Mental distortion

4. Dwarfism
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An Individual who has the ability to aware of his own

strengths and weaknesses is said to have intelligence

1. Intrapersonal

2. Interpersonal

3. Social

4. Abstract
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The process of production of a new imagination or an object is
1. Intelligence

2. Aptitude

3. Creativity

4. Fantasy

28 £ &rSomd), S0 M &8)8 TR (DD

1. @g

2. Qe if";Sogéo
3. ‘é&zzmé&éé

4.

?956&33?6



19.

20.

When an individual undergoes a mental shock, forget his past
life moves to another place and starts a new life is

1.
2.
3.
4.

Regression
Amnesia
Fuge
Inhibition

2.8 558 eRrads KBS XS éaaozg) SH8yFow B
B3T3 39, §E SIS (FTDOIEY) L WL,

1.

- W N

&30S0
@5&&3&0‘55"
oY
0938°¢50

The measure that represents the centre of its distribution of the
data is called

l.

N

3,
4,

Central tendency
Frequency
Class interval

Range
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‘Netiquette’ relates to

1. Educational resources in computer field
2. Ethics in internet browsing

3. Computer Language

4. Virus
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One of the following is not a character of effective classroom

1. Peer interactions
2. Discussions
3. Student — teacher interactions

4. High discipline
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According to NEP — 2020 the following age group children
requires indoor games

l. 3 to 6 years

2. 3 to 8 years

3. 3 to 10 years

4. 5 to 10 years
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Eggs given to each child per week on the Jagananna
Gorumudda scheme
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The word ‘Mental Age’ was first introduced by
1. Thorndike

2 Alfred Binet

3. Guilford

4 Thurston
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Michelangelo virus is an example of
1. Trojan Horse

2. Time Bomb

3. File Destroyer

4. Boot Sector Virus
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The following stage is not the part of Bruner’s Cognitive

Development theory

1. Enactive Method
2. Iconic Method

3. Analytical Method
4. Symbolic Method
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The author of the book ‘How children fail’

1.
2.
3.
4.

John Holt
John Dewey
Makarenko
A.S. Neil
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The following is not a child centered method

1. Demonstration method
2. Problem solving method
3. Heuristic method

4. Project method
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Collecting information through face to face discussions is an
1. Anecdotal record
2. Interview
3. Checklist
4. Interest inventory
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63.

64.

English Paper — IIA,

Choose the part in a personal letter that contains the
information or message.

1. Heading
2. Body of the letter
3. Address

4. Greeting

Do you know Sheena?

The passive voice of this sentence begins with

1. Does Sheena

2 Do Sheena

3. Is Sheena

4 Was Sheena

My sister two days of school in a row.

Choose the correct option to complete the sentence.
1. has often missed
2 has missed often
3. often has missed
4

missed has often

Choose the expression we use to say in a polite manner to
offer something to somebody.

1. Yes, please

2 Can you

3. Would you like to .......
4

You are welcome.



65.

66.

67.

68.

flute and the tabla make a wonderful combination.

A
An
The

No article is required.

Every one appreciated the magician

Choose the correct question tag.

l.

2.
3.
4

didn’t they?
don’t they?
could they?

wasn’t it?

Choose the word with suffix that denotes a state or a condition.

1.

2
3.
4

endless
waitress
criticism

attendance

Choose the correct alphabetical order of these words.

Ll AN

through, thrust, throve, throne
throne, throve, thrust, through
throne, through, throve, thrust
through, throve, thrust, throne

through, throne, thrust, throve
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70.

71.

72.

Choose the correct spelling of the word.

l.

2
3.
4

segragation
segregation
segregasion

segragasion

The short form of a word is indicated by a

Choose the correct option that fits the blank.
1.

2.
3.
4

comma
full stop
semicolon

colon

I determined to return to my own castle.

Choose the synonym of the word ‘castle’.

l.

2
3.
4

garden
mansion

fields

meadow

at the end.

I don’t consider this as work because it gives me pleasure.

Choose the antonym of the word ‘pleasure’.

l.

2
3.
4

companions
durability
joy
annoyance
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75.

76.

He said, ‘Close the window, please.’

Choose the reported speech of the sentence.

1. He requested me to close the window.

2 He ordered me to please the window closed.
3. He told me if the window is closed.
4

I told him if he can close the window.

Iam  you at chess.

Choose the expression that fits the blank.
1. not as good as

2 not as better as

3. not the best of
4

more better than

The service here is very slow. I to the manager if
we are not served soon.

Choose the verb that fits the blank.

1. have already complained to be
2 will have to be complained

3. would complain

4 am going to complain

If you are ready, I how the equipment operates.
Choose the verb that fits the blank.

1. might be explained

2 will explain

3. am explaining
4

can be explain
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78.

79.

80.

The lecture was so boring that people had to walk out.

Choose the meaning of ‘walk out’.

1.

2.
3.
4

departed suddenly
thought over
turned off

yielded to

Kamal hoped that he would win the prize.

The above sentence is

l.

2
3.
4

a simple sentence.
a compound sentence.
a complex sentence.

a simple complex sentence.

She eventfully found her passport
the clothes in her drawer.

Choose the word that fits the blank.

l.

2
3.
4

at
among
until

during

He enjoyed the peace and quiet as he walked
Choose the word that fits the blank.

l.

2.
3.
4

through
during
among

between

the forest.
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82.

83.

&4.

You have to study hard improve your career.
Choose the linking expression that fits the blank.
1. furthermore

2 moreover

3. what’s more

4 so as to

The sound, the picture quality is amazing.
Choose the linker that fits the blank.

1. at least

2 as well as
3. in other words
4

for instance

My grandmother, likes everybody grandmother, was
an old woman.

Choose the option that can improve the underlined part.
1. likes everybody’s grandmother

2 like everybody grandmother’s

3. likes everybody’s grandmother’s

4 like everybody’s grandmother

By the time he had won his commission, the senior
officer had to start seeking employment elsewhere.

Choose the option that can improve the underlined part.
1. had been to start to seek

2 had started seeking

3. were started to seek
4

were to have started to seek



85.

86.

87.

88.

Choose the word that indicates frequency.

l.

2.
3.
4

greatly
here
clearly

weekly

Choose the sentence that has a correlative conjunction.

l.

2.
3.
4

If you are late, you will be punished.
Either Ravi or Rana will conduct the game.
Don’t move from here.

I don’t know who you are.

Shall we start playing the music?

This sentence indicates

1. ability.

2 slight possibility.

3. suggestion.

4 necessary.

The famous singer and composer arrived.

Choose the word that fits the blank.

l.

2.
3.
4

has
have
are

WCEre
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Read the following passage.

Carbon dioxide from air is taken in through the tiny pores
present on the surface of the leaves. Such pores are called
Stomata. This carbon dioxide combines with water in the
chloroplast to yield sugar which is converted into starch.
This serves as food for all organisms.

This passage describes

1. the uses of organisms.

2 the uses of sugar.

3. the process of making pores.

4

some facts about carbon dioxide.

Read the following passage.

Carbon dioxide from air is taken in through the tiny pores
present on the surface of the leaves. Such pores are called
Stomata. This carbon dioxide combines with water in the
chloroplast to yield sugar which is converted into starch.
This serves as food for all organisms.

Food for all organisms is

1. carbon dioxide.

2. chloroplast.

3. starch.

4. pores.
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APTET — Paper- 11 A — 2022
MATHEMATICS

If salary of A is 20% more than B, then what percentage of
salary of B is less than A
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l. 162%
3

2. 173%
2

3. 163%
2

4. 17%%
3

Two men on either side of a temple of 30 meter height observe
its top at an angle of elevation 30° and 60° respectively. Then
the distance between two men
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94.

95.

1+ CosO
1-CosO

Simplify

D s
CosecO — Cot6
CosecO + Cot6
SecO — Tan6
SecO + Tan6

b=

The value of Cosec 31° — Sec59°
Cosec 31° — Sec59° denss

1
2
3. -1
4

The value of Sin 60° Cos 30° + Sin 30° Cos 60°
Sin 60° Cos 30° + Sin 30° Cos 60° dens

l. 0
2 L
2
., B
2
4. 1
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Circular discs 5mm thickness, are placed one above the
another to form a cylinder of curved surface area 462cm’. If
the radius of disc is 3.5 cm then the number of discs required
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1 55
2. 42
3. 63
4. 78

From a circle of radius 15 cm, a sector of angle 216° is cutout
and its bounding radii are bent it to form a cone then its
volume (in cm’)
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1 1018.3
2. 1108.3
3. 1028

4 1048.3



98.

99.

In a parallelogram ABCD, the diagonals AC, BD bisects
perpendicularly then ABCD is

1.
2.
3.
4.

Isosceles Trapezium
Rhombus
Trapezium

Quadrilateral

2.8 DITFOSY SEthyo ABCD S° sges AC, BD 5& 0o
ééﬁo@osa)odéé [ ABCD 2.8

1.

- W N

DIOGEPTO (BDRAHD
o020

(BHREH

75&“93632)wo

To construct a trapezium the number of independent
measurements required

2.5 (32205 APPOSTAE SHBS KSOS Fodens

1
2.
3.
4

AN DN B~ W



100. In a triangle ABC, DE || BCthan %=

DB
2.5 (©292508° ABC &° DE || BCoons e
1 AB
' AC
,  AC
AB
3 AD
CE
5, AE
AB
101. Rationalise the denominator !
4++/5
I s oo 0553500 SA%
4+/5
1 4-5
' 11
4+4/5
2.
11
11
3.
4-+/5
4. 1

4++5



102.

103.

104.

If the recurring number 10.363636.... written in the simplified

form of £ , the value of p + g is
q

S58 $5T0¥ %095 10.363636...... 5 Lero08® s
q

IS’ TS, p+ g oS
1 115
2. 125
3. 135
4 145

If the intrest compounded half yearly at the rate of 10% on

Rs. 1000/- then the intrest in year (in rupees)
5. 1000/- 3 VOSSY50IL $560e 10% 9)S ©F

Q-

VOSSYTINILH 2.5I8 IESG BT 1 S0IB)B0S® S
3\ E5G (Erraves?)

1 102
2. 302.50
3. 102.50
4 302

If A, B are disjoint sets, then 4()B=
A, B @ Ja5nE H0sen @ond 4 B=

. A
2. B
3. ¢
4. AUB



105. Mode is used to analyse

1. Numerical data
2. Verbal data

3. Graphical data
4. Oral data

EPTOFES IVBITKOD BSOS
1L QOP°gBL S
2 5);5683'°e§&§
3. TR0 Sgro¥o
4

3PS Sgro¥o

106. Value of tan 90°

1. 0
1
2. —
V3
3. Not defined
4. B
tan 90° DensS
1. 0
1
2. —
V3
3. @3%3@0

4. 3



107. In arithmetic progression 21, 18, 15 .... If t, =— 81 then n =
2.5 ©o¥@e38 21, 18,15 ....8° 1, = — 81 @ond n =

1 30
2 32
3. 35
4 31

108. What should be taken away from 3x*> — 4y* + 5xy + 20 to get
)
—x"—y+6xy+20

3x° — 4y + Sxy + 20 5008 O BXIY, - x¥ — ¥+ 6xy + 20

S8
1 4x* = 3y* — xy
2 4x* + 3y—xy
3. 4x* = 3y—xy
4 4x — 3y—xy
1 1
109. The value of — + .
l+a"™ 1+a™™"
1 1
— + — QeI
l+a"™ 1+a™™
1. 0
2. 2
2
3. 1
4. a™"

110. In linear equation of two variable equation x — axis

B0 WETHO TPADH VWESHINS” X - 850 VAW ESE0
1 x=0
2 y=0
3. x+y=0
4 xX=y



111.

112.

113.

114.

The area of the triangle with points (0, 3) (0, 0) and (4, 0) is
(0, 3) (0, 0) 528052 (4, 0) DotHIHOT btio)c‘éb B2z g0

1 12

2.

3.

4

The distance between two points (x, 7) and (1, 15) is 10 then

the value of x
(x, 7) 308330 (1, 15) Dot Ho ;53655 &80 10 9008 X DS

1. 7

2. 6

3. 8

4. 9

A coin was tossed 4040 times and got 2048 heads. Then the
probability to get head is

2.5 P00 4040 o8] XSS 2048 e8] 2'5“’;53&33&57?,
ARSNY AR DOETHYES

4040

2048

2048
4040

4040
4. 2048

l.

The probability of sure event is

z’p»ﬁ)geﬁ DS o‘:’m§2r 26029“;5595

1 1
2. 2
3. 3
4 0



MATHS - METHODOLOGY

115. Mathematical value that develops knowledge and skills is
1. Cultural value

2. Utility value

3. Preparatory value

4. Disciplinary value

200, PIETHOM 2OPOBOT Kedes ens

x

.|_\

3”0262)_3@§ Jens
2. (PEEES Jens
3. EH8H dens

4. 55085 deos

116. Make use of simple techniques and strategies for problem
solving helps to

1. Drilling

2. Speed, accuracy
3. Motivation

4. Recognise

TGO DI DO 078 0y Jrgren, DEEHOD
GOBTROBI0 WOIEN BANEO SOOI SR (HBTeS0

1. 33850

2. Ko, P)BS0
3. emyisve

4. 80w



117.

118.

Types of correlation

DT D000 IzPen

b=

2
3
4
5

It is not the physical feature in analysis of mathematics

textbook

1. Printing

2. Language

3. Cost

4. No scope for individual differences

KedS 8§ 9RE 3aerd” F°8E wo¥o IO

1.

L

NVbl(afar

ARSAEL)

30

331G BroDH wss¥o BHoke



119.

120.

In this method, it is divided into parts and spread into different
classes according to their difficulty level

1. Spiral approach

2. Concentric approach
3. Topical approach

4. Activity based method

Ke3S Dorg (DeT@ES°D (38 o) §'R) armeor
SQEBON T BTG IV SERBOKH OB HED

L 08y $E8
(e}
2% Zo|ES DES
@
BBE DEd
o @

L

§Q)e3°§c5°6 ége‘ié

Srinivasa Ramanujan invented in his last stage
1. Mac — theta functions

Partition of numbers

Elliptic integral

Fractions

AT ToSTnS D58 $¥S® SRR

2o RN

578 - Ber H0ES)
TP e So2d)
ORE oBUS

Sl

4. é',)@e:o



121.

122.

APTET — Paper- I A — 2022
Physics

In C.G.S. system the units of specific heat are cal/g.°C, then in
S.I. system

ABPLNS C.G.8. HEBS” (prezen cal/g.°C ©o0S S.I.
ale)

| k.cal
i o C
5 J
2. 4.186x10° ——
kg.K
3 9
kg-K
N
4. —
m

Fluid Friction is also called as
1. static friction

2 drag

3. rolling friction

4

sliding friction



123. If the body is having 5kgs of mass, then its
weight is (g = 10 m/s?)

5 8. (55078 Ko 599 w0 (=10 m/s)

1 50N

2 49 N

3. 5N

4 2N

124.  Which is not the unit of Energy
l. Joule

2. Erg

3. Calorie

4. Newton

¥88 (D3rer0 5208

. &5

2. 28

3. Sod

4. Srges

125. The Latent heat of vaporization of water at normal
atmospheric pressure (1 atm) is

FEe FEste 2650 (1 atm) 3G S erISS KHFHo
RISON

1 540 Cal/gm
2 80 Cal/gm
3. 540 J/gm

4 80 J/gm



126. The focal length of a plane mirror is

127.

1.
2.
3.
4.

Zero
Infinity
Negative

Positive

é;ﬁoéedéfao @JJ§ZJ_ meﬁgoééo

1.

L

w3
€9:350¢50
mwé&§o

&QJ°es &§o

The S.I. units of magnetic flux is

1.
2.
3.
4.

Oersted
Weber
Tesla

Ampere

@00 08 @PIP3EI8 S.1. (dsores0

1.

L T

€300 5:8635
305
&3

™

e3020508



128.  One of the following does not belong to the family of solar

system

1. Planet
2. Meteors
3. Galaxy
4. Comet

208 T9S° FE%¢10eIL TSSO

1 VatSe

2. GO0
3. ﬂeﬂé&

4. SEDY

129. Stretching a rubber band, is
1. Physical change
2. Chemical change
3. Physical and Chemical changes
4. No change
B2\t ero&sy FPROSHES 28

1. AN 355"6)0)

2 [ofidoseIN] ;55"6)0)

3. FPAE 080 B 00IE 55"6)0)@3
4 Se) B



130.

131.

132.

Following is the most reactive metal

1. Sodium

2. Aluminum
3. Iron

4. Copper

308 >B° es50s SorfBosKe §%ro
1. A&ao

2 eaw§§b§)oﬁoo

3. relo i)

4 o°A

This is a renewable and non-toxic fuel
Petroleum fuels

Coal

LPG

Bio-diesel

@563@136%, QAIPEB0 3°J OLSO
1L Sgosso

2. AN
3.
4.

W=

D6.2.22.
OBrERS

Chemical formula for Gypsum
290 DoY), SIS HOSBI0

. CaSO,. %HZO

2. CaSO,.2H,0
3. MgSO,.2H,0

1
4. MgSO,.-H,0



Biology

133.  Xylem and Phloem are together known as

1. Meristematic tissue
2. Vascular tissue

3. Dermal tissue

4. Ground tissue

TPEY), PAT Serzgreren DGR O [ e90sTDd

1. 3)2.7%5 5€323°eT°0

2. (@D0Tea eseeeren
3. @5{5 Ee325°er e

4. QOGPANE Beaeseeren

134. Assimilatory power among the following is
808 TBS° rimgs ¥ 0 B eotrth.

1. ADP and H,O
2 ADP and NADPH
3. ATP and H,O
4 ATP and NADPH



135. The scientific and objective study of animal behaviour is

called

1. Ecology

2. Ethology

3. Entomology
4. Evolution
BOEIO (BITSH FIQALON BSLEHS0 VALY 3
9083780

1. 35°0R

2. 30

3.  dotysrod
4. 0T (K0

136. The number of pairs of spinal nerves

1. 12 pairs
2. 31 pairs
3. 21 pairs
4. 13 pairs
B8Y) SO0 BSOSO
1. 12 e
2. 31 asen
3. 21 esen
4. 13 230



137. The term “Capillaries” which is derived from the Latin word

means

1. Fibre

2. Thread

3. Hair

4, Strands

oS DS0 o0& .%652)33035 “w§&§§m@§”§s Sle
L 2%

2. [l INOV)

3. B¥o

4. Soren

138. Amber colour of urine is due to
1. Chlorides

2 Urochrome
3. Bilirubin
4. Biliverdin
Sorg0 B DR BorS” GoEEAE SBEIDS DEYo
1L §B§)
oR—
2. or8IET™
3.  BOTHS
4. BOSBS
TG



139. The hormone that increases the rate of heart beat rise in blood
sugar level is

1. Thyroxine

2. Follicle stimulating hormone

3. Luteinising hormone

4. Adrenaline

SYS05 BY0ES O FEOS® IF Y FeY) 20T S

L 38y

2. TOES JunBROR FPE° Yy
3. org3pRoR W%y

4. &3O

140. The fungus that does not reproduce by spores is
Rhizopus
Penicillium

Yeast

b

Rhizobium

2o oo (RSB Bocsd 8do\o
1L 3898

2D

53

LAY

- W N



141.

142.

Identify the wrong statement about blind spot of eye

l.

It is part of the Retina that lacks photo receptors

2. It is located at the point where optic nerve exits
3. It is the area of no vision

4. It is also known as Macula (or) Fovea

50ed Gook), WoSHY), HB0Y SY)r assosaa&é T°S°G)
5580506,

L J890008° 5208 ((Trsren ok grKo

L

30 §)5TE 508 08 2He% FST e Goeod
30 S)ReESo B (Frodo
BV Doger (Bor) FPIST @ 6 WO

5 Kingdom classification was proposed by

1.
2.
3.
4.

Copeland
Chatton
Whittaker

Cavalier - Smith

5 overgo ;5/8\6§sa:63 PEFB0NS T

1.

L

§%5er0&

TR

86
33D - 2)&



143. The place in which an organism lives

1. Biome
2. Habitat
3. Niche

4. Biosphere
28 29 IS0 A oo
1L ASSo&eo

(VA

€33°00

3
B3°58e30

L

144. Example for a non-renewable resource
1. Water

2. Solar energy

3.

Coal
4, Soil
:g)m;gao:mm JIJE &SRS
1. it
2. F5¥
3. A0S

N

4, ;i;ég



145.

146.

BIO Methodology

The type of hypothesis that shows “there is no relation
between the two things”

1. Declarative Hypothesis

2 Prediction Hypothesis

3. Question Hypothesis

4. Null Hypothesis

“Bot IATO M JT0 ¥020550 B ¥ BON B
FE0)38°D 8%0

1. (DELTEE (FE0)S
2. (P08s (rseys

3. By o)
4wy PEeyS

In Bloom’s Taxonomy of Educational objectives,
“Responding” belongs to this domain.

1 Cognitive domain

2 Affective domain

3. Psychomotor Domain

4. Cultural Domain

2T) ITOFEY SPECeS” “(HV)0B0WHe” BBSE e
508 H502080DI8

1. 2PSB0K0
=g
2. TP RTS0KO
3. SSDE 1350:3"95&§ SoKo
4, 3"0266_0)@§ Soxo



147. A test having the same results by the same examiner either at
the same time or at different times is said to have

1. Reliability

2. Objectivity

3. Comprehensive

4. Practicability

23 $05HH 2378 B D I DX Keas VO
2.8 FOS O I &3 A 5O/ &N

L HOoHS

€>§°§e§ &§e§

PN

- W N

@7568‘3"’95&§9§



Physics Methodology

148. Role of a team leader in collaborative learning approach is
1 Teacher
2. Facilitator
3. Moderator
4. Coordinator
RIEPRS OGOS SDNDHOS” wiy TALLI IS

1. éﬁ“@"go‘éooc‘fo

2. 3°§6§§§°
3. Romssy
4 DSBS

149. SAPA (Science a Process Approach) programme started by
SAPA (Dzz5#(R0 2.8 (H(805H &3K:0) & ST§ESr)

(FPEoDONSE

1. NATD

2. AAAS

3. UND

4 UNESCO

150. According to the ‘All India Science Teacher Association’ the
space required for each pupil in the science lab

0POLTIS TS T(Y SIEYOH VOO’ DI IEH
BErRTOS” 28 %), AT &oESOVS Koo
P @

l. 30 SFT
2. 20 SFT
3. 40 SFT

4. 50 SFT
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